


 

 

     

 

Q1.What is teaching aptitude ?  

(a) Possession of requisite teaching abilities to be a teacher  

(b) Devotion towards teaching profession  

(c) Desire to excel as a teacher  

(d) Good communicative skills 

Q2.Team-Teaching has the potential to develop:  

(a) Cooperation       

(b) Competition  

(c) Bridging the gaps in each others teachings   

(d) Supplementing the teaching of each other 

Q3.Audio visual aids help..............students in the class.  

(a) Slow learning       (b) Intelligent  

(c) Playful        (d) Curious 

Q4.Which one of the following is true about the ways of learning for students ?  

(a) Speed of learning is same for all students  

(b) Each child has a unique learning style  

(c) Children follow the way other students learn  

(d) All children immediately follow the teacher's instruction 

Q5.The mental age of a child is equivalent to his/her chronological age. It means that child is :  

(a) genius        (b) above average  

(c) average        (d) below average 

Q6.The most important challenge before a teacher is :  

(a) to maintain discipline in the classroom  

(b) to make students do their work  



 

 

     

(c) to prepare question paper  

(d) to make teaching-learning process enjoyable 

Q7.The best way of memorization is to :  

(a) read loudly      (b) understand the concept  

(c) know the concept      (d) apply the concept 

Q8.To check the downfall of standards in education, it is essential to have :  

(a) good training of teachers  

(b) parental awareness towards students homework  

(c) qualitative improvement in education system  

(d) more number of teachers 

Q9.The essence of effective classroom environment is :  

(a) A variety of teaching aids     (b) Lively students-teacher interactions  

(c) Pin drop silence      (d) Strict discipline 

Q10. A teacher can be successful if he/she : 

(a) Helps students to become better citizen  

(b) Imparts subject knowledge to students  

(c) Prepare students to pass the examination  

(d) Presents the subject matter in a well organized manner 

Q11.A teacher meeting his students for the first time should :  

(a) Develop rapport with the class  

(b) Start teaching without caring the students likes and dislikes  

(c) Give a broad outline of the whole subject  

(d) Both (b) and (c) 

Q12.If the students are using abusive words in the classroom during their interval time and you 

heard that, then you should :  



 

 

     

(a) Inform the Principal to do the needful  

(b) Give punishment to the students, so that they may not repeat it  

(c) Avoid it as it is not affecting you  

(d) Persuade them decently and give proper warning 

Q13.Teaching and learning process should be :  

(a) Teacher centred       (b) Learner centred  

(c) Curriculum centred      (d) Society centred 

Q14.Which of the following is the highest level of cognitive ability ?  

(a) Knowing        (b) Understanding  

(c) Evaluating        (d) Analysing 

Q15.The most appropriate purpose of learning is :  

(a) social and political awareness    (b) modification of behaviour  

(c) personal adjustment     (d) preparing oneself for employment 

Q16.If majority of students in a class are weak, the teacher should :  

(a) Ignore bright students  

(b) Focus on weak students only  

(c) Focus on bright students only  

(d) Focus on entire class with extra guidance to bright students 

Q16.A teacher can keep backbenchers attentive by :  

(a) Scolding one or the backbenchers  

(b) Punishing one or the backbenchers  

(c) Frequently asking questions to the backbenchers  

(d) Ignoring the backbenchers 

Q18. Mr. William, a teacher or English, notices that a few backbenchers in his fourth period have 

a tendency to start eating before the bell for recess rings. What should he do to address this 

minor misbehaviour?  



 

 

     

(a) He should go to the back of classroom and stand there till the bell rings  

(b) He should make a stem face that communicates his disapproval to misbehaving backbenchers  

(c) He should use hand signals to communicate to misbehaving backbenchers  

(d) He should ask misbehaving backbenchers to meet him in recess 

Q19. John shows sensitivity to the physical world, which includes the balance of plants, animals 

and the environment. He is a keen observer of nature’s elements, such as daily, seasonal and 

cyclical change. As a teacher-cum councellor, you would not suggest him which of the following 

career options? 

(a) Geologist  

(b) Herbalogist  

(c) Meterologist  

(d) Therapist 

Q20.If a student calls you on your mobile late at night you would:  

(a) switch off the mobile  

(b) attend the call and later explain him the appropriate time to call  

(c) ask someone else to attend the call  

(d) ignore the mobile ring 

Q21.A teacher who is incapable in sustaining the attention of her students should:  

(a) switch to dictating notes  

(b) distribute handouts  

(c) change her class  

(d) evaluate and change her teaching method accordingly 

Q22.If you are unable to answer a question asked by the student what will you do?  

(a) Confuse him/her by wrong answer  

(b) Will say that the question is illogical  

(c) Find out the answer later and tell the student  



 

 

     

(d) Ask the students' best friend to find answer 

Q23.Effectiveness of teaching has to be judged in terms of :  

(a) Learning outcomes of students  

(b) Attendance of students  

(c) Performance of students in extra-curricular activities  

(d) Extent of teaching aids used by teacher 

Q24.When a student is absent from the classes for a long time, what will you do as a teacher ?  

(a) you will try to know the reason of his absence  

(b) you will remain indifferent to that 

(c) you will send a warning letter to him  

(d) you will complain to the Principal 

Q25.Which of the following is the correct attitude of a teacher towards students ?  

(a) Supremacy      (b) Sympathetic  

(c) Outspoken       (d) Being tolerant 

Q26.The Pupil-Teacher Ratio (PTR) as per RTE Act, 2009 at primary level should be:  

(a) 30:1       (b) 28:1  

(c) 25:1       (d) 35:1 

Q27.Gross Enrollment Ratio in Higher Education (GER) for session (2016-17) in India was :  

(a) 20.4%       (b) 30%  

(c) 25.2%       (d) 17.4% 

Q28.The most suitable stage to start vocational education is :  

(a) Postgraduate level      (b) Undergraduate level  

(c) Secondary level      (d) Primary level 

Q29.Whleh day is celebrated as 'National Education Day?  

(a) 12 October      (b) 15 August  



 

 

     

(c) 11 November      (d) 26 January 

Q30.The university which telecasts interactive educational programme through its own channels 

is :  

(a) B.R. Ambedkar Open University, Hyderabad    (b) IGONOU  

(c) University of Pune      (d) Annamalai University 

Q31.NMEICT stands for :  

(a) National Mission on Education through ICT  

(b) National Mission on E-governance through ICT  

(c) National Mission on E-commerce through ICT  

(d) National Mission on E-learning through ICT 

Q32.In which year the University Grant Commission came into existence ?  

(a) 1951        (b) 1953  

(c) 1952       (d)1954 

Q33.Ministry of Women and Child Development (MWCD) launched Hausla 2018 for:  

(a) Primary Education      (b) Women  

(c) Children Care Institutions     (d) Child Health Care 

Q34.As per Swachh Campus Ranking, 2018, the cleanest university is :  

(a) Aligarh Muslim University      

(b) Jamia Hamdard  

(c) Maharshi Dayanand University  

(d) Indian Institute of Technology, Chennai 

Q35.The new scheme of MHRD "SPARC" stands for :  

(a) Scheme for Promotion of Academic Research Course  

(b) Scheme of Promotion of Academic and Research Collaboration  

(c) Scheme of Periodic Assessment & Records Cell  



 

 

     

(d) Scheme of Promotion of Assessment & Research Council 

Q36.In which state the education programme 'Mission Vidya' was organised ?  

(a) Gujarat       (b) Uttar Pradesh  

(c) Maharashtra      (d) Himachal Pradesh 

Q37.Where did the G-20 Education Ministers meeting take place on 5-6 September, 2018?  

(a) Mendoza, Argentina     (b) Washington, USA  

(c) Sydney, Australia      (d) Madrid, Spain 

Q38.Ministry of Human Resource Development (MHRD) was created on  

(a) 26
th

 September, 1965     (b) 26
 th

 September, 1975  

(c) 26
 th

 September, 1985     (d) 26
 th

 September, 1995 

Q39.International Literacy Day is celebrated every year on:  

(a) 7
th

 August       (b) 8
th

 September  

(c)9
th

 October       (d) 10
th

 November 

Q40.ODE stands for :  

(a) Open Distance Examination    (b) On-Demand Examination  

(c) On-Demand Evaluation     (d) Open Distance Evaluation 

Q41. NDLI stands for : 

(a) National Digital Library of India  

(b) National Digital Library in Institutes  

(c) National Development Language Institutes  

(d) National Development Language of India 

Q42.India's first "National Sports University' has been approved to be established in :  

(a) New Delhi       (b) Hyderabad  

(c) Mumbai       (d) Manipur 

Q43.Lyngdoh Committee is associated with: 



 

 

     

(a) Students Union Election     (b) Lok Sabha Election  

(c) Rajya Sabha Election     (d) All of the above 

Q44.The Central Advisory Board of Education (CABE) was first established in the year :  

(a) 1930       (b) 1920  

(c) 1910       (d) 1900 

Q45.The National Talent Search Examination (NTSE) is conducted every year by which of the 

following agency?  

(a) DEC       (b) NAAC  

(c) UGC       (d) NCERT 

Q46.Who is the Chairman of University Grant Commission?  

(a) Prof. D.P. Singh      (b) Prof. RN. Singh  

(c) Prof. D.S. Kothari      (d) Prof. A.P. Singh 

Q47.Right to Education Act was enacted on :  

(a) 4
th

 August, 2009      (b) 1
st
 April, 2010  

(c) 15
th

 January, 2009      (d) 4
th

 December, 2009 

Q48.What does 'MUSK stand for in the context of Secondary and Higher Education cess? 

(a) Madhyamik and Uttar Shiksha Kosh   (b) Madhyamik and Uchehtar Shiksha Kost  

(c) Madhyamik and Unnati Shiksha Kosh   (d) Madhyanı and Uchchtar Shiksha Kosh 

Q49.The portal providing national digital infrastructure for teachers, launched in 2017 was: ' (a) 

(a)SHASTRA        (b) SHIKSHAK  

(c). DISHA        (d) DIKSHA 

Q50.'IMPRESS' scheme was launched by Central Government of India on October 15, 2018 to :  

(a) Promote Higher Education    (b) Promote Research in Medicine  

(c) Promote Secondary Education    (d) Promote Research in Social Sciences 

Q51.A boat man goes 96 km in 8 hours with the flow of a river and returns in 12 hours against 

the flow. If the speed of the boat is 10 km/hr, then find the speed of the river:  



 

 

     

(a) 2 km/hr       (b) 3 km/hr  

(c) 2.5 km/hr       (d) 3.5 km/hr 

Q52.A number added to its half gives 33. Find the number:  

(a) 23        (b) 20  

(c) 22       (d) 19 

Q53.The length of a rectangle is 2 times the breadth. If the perimeter of the rectangle is 24 cm, 

find the length of the rectangle  

(a) 7 cm       (b) 8 cm  

(c) 9 cm       (d) 10 cm 

Q54.A square and a rectangle field with measurements as given in the figure have the same 

perimeter. Which field has a larger area? 

 

 

 

       60 m         80 m   

(a) Square       (b) Rectangle  

(c) Both have equal areas     (d) Not determined 

Q55.Find the height of a cuboid whose volume is 275 cm
2
 and base area is 25 cm

2
  

(a) 10 cm       (b) 11 cm  

(c) 12 cm       (d) 13 cm 

Q56.Convert 3:4 into percentage:  

(a) 85%       (b) 70%  

(c) 75%       (d) 80% 

Q57.The cost of a pair of shoes was Rs. 450. The sale tax charged was 5%. Find the bill amount:  

(a) Rs. 472.50       (b) Rs. 482.50  

(c) Rs. 470.50       (d) Rs. 480.50 



 

 

     

Q58.Rahul purchased a almirah for Rs. 5,400 including 8% VAT. Find the price before  

VAT:  

(a) Rs. 4,800       (b) Rs. 5,000  

(c) Rs. 5,200       (d) Rs. 4,000 

Q59.Embarrassed is to humiliated as frightened is to :  

(a) Reckless       (b) Terrified  

(c) Agitated      (d) Courageous 

Q60.Look at this series : 53, 53, 40, 40, 27, 27, ............... What number should come next?  

(a) 12        (b) 14  

(c) 27        (d) 53 

Q61.If the first and the second letters of the word NOVEMBER are interchanged, similarly, if 

the third and the fourth, the fifth and the sixth and so on, then which of the following would be 

the fourth letter to the left of R in the new arrangement ?  

(a) E        (b) M 

(c) y       (d) B 

Q7.A is the sister of B and B is the sister of C D is the mother of A. Based on these three 

statements which of the following statements cannot definitely be true ?  

(a) C is a brother of A     (b) A, B and Care D's children  

(c) B is the daughter of D     (d) B is sister of A 

Q63.A watch shows 7:30. Its minute hand points towards East. In which direction will the hour 

hand point?  

(a) West       (b) North West  

(c) South East       (d) South West 

Q64.What is the least number that must be subtracted from 10420 to name perfect square ?  

(a) 200       (b) 25  

(c) 189       (d) 16 

Q65.Find the synonym of the word 'panacea':  



 

 

     

(a) Laudatory discourse     (b) Universal remedy  

(c) Nature worship      (d) A positive assertion 

Q66.Yard is to inch as quart is to :  

(a) Gallon       (b) Ounce  

(c) Milk       (d) Liquid 

Q67.Which study looks into cause and effect relationships?  

(a) Objective       (b) Clinical  

(c) Experimental      (d) Comparative 

Q68.Choose the correct pair: Editor : Magazine  

(a) Director: Film      (b) Novel : Writer  

(c) Psychiatrist: Neurotic     (d) Librarian: Library 

Q69.Antonym of 'hirsute':  

(a) Shaggy       (b) Bald  

(c) Erudite       (d) Glorious 

Q70.Find the next term in the series : ZIA, X2D, V6G, T211, R88M, P445P  

(a) N26765       (b) N26767  

(c) T2670N       (d) T2676N 

Q71. Cub : Lion :: Colt : ?  

(a) Doe       (b) Stag  

(c) Leopard       (d) Stallion 

Q72 .3:11 :: 7:?  

(a) 22         (b) 29  

(c) 18         (d) 51 

Q73.MK:
   

   
 :: JH: ? 

(a) 
   

  
         (b) 

  

  
  



 

 

     
(c) 

  

   
         (d) 

   

  
 

Q74.Choose out the odd one:  

(a) Canoc        (b) Igloo  

(c) Yacht        (d) Dinghy 

Q75.B and E are good in Dramatics and Computer Science. A and B are good in Computer 

Science and Physics. A, D and C are good in Physics and History C and A are good in Physics 

and Mathematics. D and E are good in History and Dramatics. Who is good in Physics, History 

and Dramatics?  

(a) A         (b) B  

(c) D         (d) E 

Q76.She is not ............ efficient as he is.  

(a) that        (b) so  

(c) as         (d) as much 

Q77.I wish I ............. as bright as my younger brother. 

(a) am         (b) was  

(c) had been       (d)Were 

Q78.1 ................... of my eamed leave.  

(a) availed        (b) available myself  

(c) availed myself       (d) awailed 

Q79.'To end in fiasco' means:  

(a) to succeed        (b) in confusion  

(c) in complete failure      (d) in acrimonious debate 

Q80.You should try to .............your expenses.  

(a) cut off        (b) cut down  

(c) cut out        (d) cut under 

Q81........... means 'to send an unwanted person out of the country.  



 

 

     

(a) Exclude        (b) Ostracise  

(c) Deport        (d) Expatriate 

Q82.'Obligatory' means :  

(a) useful        (b) required  

(c) stubborn        (d) agreeable 

Q83.I congratulated him ..........., his success.  

(a) in         (b) at  

(c) on        (d) for 

Q84.Choose the correct sentence :  

(a) Though he worked hard, still he failed  

(b) Though he worked hard, he failed  

(c) Since he worked hard, he failed  

(d) Though he worked hard, still he passed 

Q85.She could not help:  

(a) but laugh       (b) laugh  

(c) laughing       (d) but laughing 

Q86: Exodus' means  

(a) large scale departure of people  

(b) large scale arrival of people  

(c) large scale Killing of people  

(d) large scale flood destruction 

Q87.I have not played cricket....... I left college, 

(a) from       (b) since  

(c) last       (d) Just 

Q 88. You.................... come to the party, won't you?  



 

 

     

(a) may       (b) will  

(c) should       (d) ought to 

Q89 The teacher asked the boys to …………..the new word 

 (a) take down      (b) take in  

(c) take off       (d) take some 

Q90.Neither a lender.............. a borrower be.  

(a) nor        (b) for  

(c) sorry       (d) unless 

Q91 Cars must stop at a red traffic light..........pedestrians must only cross when the light is red.  

(a) Similarly       (b) In case  

(c) As long as       (d) Unless 

Q92.Greens contain vitamin A. .....they are rich sources of iron. 

(a) Addition       (b) Addition to  

(c) Moreover       (d) More 

Q93. Hundreds of people die..........malaria in villages. 

(a) from       (b) by  

(c) with       (d) of 

Q94.Beeause of heavy rain, the match was :  

(a) broken off       (b) fallen off  

(c) called off       (d) called out 

Q95.The audience ................ at the end of the drama.  

(a) appreciated      (b) praised  

(c) exploded       (d) applauded 

Q96.The Prisoner was released on .............. for good behaviour,  

(a) probation       (b) bail  



 

 

     

(c) parole       (d) guarantee 

Q 97................... he was not there, I met his brother.  

(a) Yet       (b) If  

(c) Since       (d) Because of 

Q98.The public are cautioned ........pick-pockets. 

(a) from       (b) of  

(c) against       (d) with 

Q99.Write the antonym of “legible'.  

(a) alegible       (b) inlegible  

(c) unlegible       (d) illegiblc 

100. He is opposed ...............this proposal 

(a) with       (b) to  

(c) against       (d) at 

 

 




